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Quiz 4
Physics 141
06/24/2010
Show all work clearly and justify all answers mathematically/logically. You have 15
minutes to complete this 10 point quiz.

1) A 5.0-kg mass with an initial velocity of 4.0 m/s, east collides with a 4.0-kg mass with an
initial velocity of 3.0 m/s, west. After the collision the 5.0-kg mass has a velocity of 1.2
m/s, south. What is the magnitude of the velocity of the 4.0-kg mass after the collision? ‘
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a. collisions between particles within the system. % 9 "J X k 1‘7 /
b. inelastic collisions between particles within the system.
c.  changes of momentum of individual particles within the system. ) ,
d. internal forces acting between particles within the system. /’T b kg 4/
@ external forces acting on particles of the system. ey
3.) The diagram below shows five cylinders, each cylinder rotating with constant Chav/ P

angular velocity about its central axis. The magnitude of the tangential velocity
of one point of each cylinder is shown, along with each cylinder’s radius and
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mass. Which cylinder has the largest angular momentum? T
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